[image: image1.png]B.E/B.TECH. DEGREE EXAMINATIONS, MAY/JUNE-2011

REGULATIONS 2008

THIRD SEMESTER

EC 34-DIGITAL ELECTRONICS
ELECTRONICS AND COMMUNICATION ENGINEERING
Time: Three Hours Maximum: 100 marks
ANSWER ALL QUESTIONS
PART-A (10x2=20 marks)

1. Find the standard -sum for the following function.
f=ABC + ACD +ABD

2. Write down the characteristics of NMOS logic gates.
3. Define eode converters. \

4. Write down the algorithm for BCD addition.

5.  Whatis Raoe problem in flip-flops?

6.  Define modu]us/nf a counter.

7. Distinguish béfween EPROM and EEPROM,

8.  Whether ROM is classified as a non volatile storage
device? Why?

9.  What is race?

10. List the advantages of ASM chart over state graph.
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PART-B (5x16=80 marks)

Prove the De-Morgan's laws using (8)

Boolean algebra.

Find the minimal sum of product form (8)

for the following switching function.

f(A,B,CD,E) =S m(2, 3,6, 7, 11, 12, 13, 14, 15, ¢
28, 29, 30, 31)

@

@)

Or

Explain the working of a two input TTL (1

NAND gate and analyse its merits and
drawbacks if any.

Define the terms: fan-out, noise margin,
propagation delay.

Write shert notes on:

D

@)

BCD adder
Parity checker

Or

Design the following combinational logic
circuits using a multiplexer:

@

(i)

Half-adder

Full-adder
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Explain with neat diagram

@

(i)

3-bit bidirectional shift register using D (8)

flip-flop

3-bit ripple down counter using T flip- (8)

flop

Or

‘Write notes on

@
(i)
(i)
(i)
@

(i)

State diagram
State reduction
State table

State assignment

(16)

Categorise RAM-and ROM and explain (8)

in detail,

Explain the following terms:

(a) Dynamic memory
“{b) Volatile storage

(¢) Field Programmable
(d) Mask Programmable.

Or
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RAM with neat sketch.

(D Define Algorithm State Machines
(ASM). Explain in detail about the
three basic elements of ASM.

(if) What is an ASM action block? Explain
with a suitable example.

Or

Obtain a static hazard-free asynchronous
circuit for the following switching function.

=E(0,2,4,5,8,10,14)
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